12-22 43242 + ... +15% - 16* 9] F= Fotoiet

(1-2)(14+2)+(3-4)(3+4)+(5-6)(5+6)+- - -+(15-16)(15+16)
=—(14+2+3+4+5+---+15+16)

= —(17x38)

= -136




2.

= 20y 192~ 08 AGHBNste] xy o AGot A4
Fateler.
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o

x2_2xy_|_y2_9:(x_y)2_32
=(x-y=-3)(x-y+3)
L1-1-34+41-14+3=0




3. x=-1+ V2Ll % +2x+ 19 FE Fotoiat,
B

>
|> XHek o9

od -




4. ab+5a-3b-23 =0 & WFHot= A4 a b 9 FE Fotoiet
(Fha>0,b>0)

> E

vV V V¥V
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o
Q
Il
=

0
]
S
Il

o

B \

ab+5a—-3b-23=0
a(b+5)-3(b+5)+15-23=0
(a=3)(b+5)-8=0
(a—3)(b+5)=38

a>0, b>0°E22b+5>5
a-3=1,b+5=28
La=4,b=3




5.

x+y=15,x2 —y? +5x -5y = 120 & W, x -y o] k= F5}oizt.

> E:

> Het: 6

(x=y)(x+y+5) =120
T x—y==6




